









































DAY 10 — Reasoning Questions

1. A circle has a diameter of 136cm. What is the length of its
radius? 1362 68 (1 mark)

2. The radius of one circle is 8.5cm. All the circles are the same

Size.
e...‘p (xS =83
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What are the dimensions of the rectangle?
Length ¥ S o~ width 177 € (1 mark)

3.

This diagram is not drawn accurately.
Calculate the size of angle m.

704170 490
- 130°
360 - 230" =130

130 (1 mary

3.

The pie charts show the results of a school's netball
and football matches.
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The netball team played 30 games.

The football team played 24 games.

Estimate the percentage of games that the netball

team lost. 1O (1 mark)

David says, ‘The two teams won the same number

of games’.
Is he correct? Circle Yes o

Explain how you know.

Mektball won 3 of 30 games = 'S
Fookball won %_o& Al jOW“\ZJ= 12




